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28 25729 push() A4} pop
AArtoltt, O3 O Sold Z=7t A4 BAlojd AL?
#define ARRAY_SIZE 10

#define IsFull() ((top == ARRAY_SIZE-1) ? 1: 0)
#define IsSEmpty() ((top == -1) ? 1: 0)

int alARRAY_SIZE];
int top = -1,

void push(int d) {
if( IsFull() )
printf("STACK FULL\n");

else

int pop() {
if( IsEmpty() )
printf("STACK EMPTY\n");

else

o =]
@ al++topl = d;
@ al++top] = d
@ al--top] = &
@ altop—] = d

return al-—topl;
return altop—1;
return al++topl;

return altop++];
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PMBOK(Project Management Body of Knowledge)oll X #|A&t=
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@ @ viE 2(Telematics)

@ USN(Ubiquitous Sensor Network)
@ Z7rdd(Augmented Reality)

@ <}o] B2 (WiBro)

T 2L M T 2 S 2717 4 25KB,
30KB, 15KB, 10KBY Z2A~7l ex8oz A4 249}
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O Hldlelg o] SA4S UE= 3VE 2 (Volume), £ %
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AB + A'C + ABD' + A’'CD’ + BCD' |

® AB+ BC
AN Z}3H(visualization)= Hlo|E] ¥4 A3Z A ol &
91 = Fdshe 7ot @ AB+AC
@ A'CD' + BCD’

217 0 Java Z2ade] 38 Avk=
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class Foo { 19, th&-& &A(attribute) A, B, C, D&} 4719 2 (tuple) & +AE 1L
public int a = 3; Mol 4 F% AB—C, A—>DE 9Es: 2

public void addValue(int i) {

a=a-ti
109 (T} &0 Lol X0
System.out.println("Foo : "+ a + " " ); AL (& A £49 = {al, a2, a3, ad}elal, D £4°]
! Tele {dl, d2, d3, d4, d5relth
public VO;d addFive() { A B C D
=5
: T | al bl cl dl
stem.out.printin("Foo : "+ a + " " );
| v b al b2 2 9
) © bl cl d3
ad bl cd d4
class Bar extends Foo { o &)
public int a = & D dl al
public void addValue(double 1) {
o @ dl a2 T+ a3
a=a+ (int)i;
System.out.println("Bar : "+ a + " " ); ® & a2 B ad
} @ d4 ad
public void addFive() {
a+=b i 20, ABM wl2ZE(subnet mask)7F 255.255.255.19291 A B 9] P

1
System.out.printlr ("Bar : "+a+"") ]
_,_/\O]H Eal= }‘—]] tﬂEX}—(hogﬁd)g] H]E _/":,_'—‘7

} @5
@ 6
public class Test { 3 7

public static void main(String [] args) {
Foo f = new Bar();

f.addValue(1);
f.addFive();
}
}
@ Foo : 4
Foo : 9
@ Bar : 9
Foo : 8
@ Foo : 4
Bar : 13
@ Bar: 9

Bar : 14



